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QUESTION 1

What is the recommended minimum number of machines required for the smallest OpensShift v4 cluster?
A. 1 temporary bootstrap machine, 3 control plane machines, and at least 2 worker/compute machines
B. 1 temporary bootstrap machine, 1 control plane machine, and at least 2 worker/compute machines

C. 1 control plane machine and at least 3 worker/compute machines

D. 1 temporary bootstrap machine and 1 control plane machine

Correct Answer: B

QUESTION 2

What is the key benefit of moving away from a centralized ESB pattern to Agile Integration?
A. Faster roll out of integrations, enhanced scalability, and resilience

B. Rapid creation of integrations using no-code approach

C. API-led integration enabling agility and innovation

D. Multi-cloud deployment of integration artifacts

Correct Answer: B

QUESTION 3

Which statement is true about IBM Event Streams?

A. A hierarchical Pub/Sub topic architecture is available

B. All servers must be located in the same data center

C. Persistent storage is enabled by default

D. By default the consumers offset is automatically committed in the background

Correct Answer: A

QUESTION 4

What is one way to perform an automated build of an App Connect Enterprise (ACE) application within a CI/CD
pipeline?

A. Build a bar file from a Project Interchange within the ACE toolkit and push it to GitHub.
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B. Run a Docker build to create a bar file within a Jenkins pipeline, and store it in Artifactory.
C. Use Source2lmage within a Tekton pipeline to create a bar file from a Project Interchange.
D. Use Jenkins to spin up an ACE container, build a bar file, and destroy the container.

Correct Answer: A

QUESTION 5

What is the minimum requirement for an HA deployment of the Cloud Pak for Integration Platform Navigator?
A. 3 cores across 3 worker nodes

B. cores across 2 worker nodes

C. 1.5 cores across 3 worker nodes

D. 1 core across 2 worker nodes

Correct Answer: C

QUESTION 6

Click the diagram that shows a decentralized IBM MQ Containerized Architecture:

Hot Area:
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Correct Answer:
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QUESTION 7

What is a significant challenge that is unique to hybrid messaging?

A. Iterate quickly on the cloud and interact easily with enterprise systems of records

B. Build a scalable and high-throughput enterprise messaging backbone to support applications on the cloud
C. Synchronous connection and distribution of events between cloud and on-premises systems

D. Monitoring of privileged access to sensitive data and integrity of sensitive data in transit and at rest can be done only
within the enterprise

Correct Answer: D

QUESTION 8

Which active-standby pair of queue managers uses a shared networked file system?
A. Double resilient queue manager

B. Replicated data queue manager

C. Integrated HA queue manager

D. Multi-instance queue manager

Correct Answer: D

QUESTION 9

What is the easiest way to consume an application residing outside of the boundaries of a cloud-native application?
A. XML

B. node.js

C. APIs

D. Java Functions

Correct Answer: A

QUESTION 10
What is the function of Kibana in the Cloud Pak For Integration logging service?

A. Collate, correlate, and interpret log data
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B. Capture, collect, and forward log data
C. Index, search, and store log data
D. Query, discover, and visualize log data

Correct Answer: C
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